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LH 3 Lösung zu AB 1 Form and function of the human ear
Die korrekte Reihenfolge der Textbausteine lautet: C – B – D – F – A – E – H – J – I – G
When sound waves reach our ear, the auricle collects and redirects them into our ear canal. They then travel down the ear canal to the ear drum, which begins to vibrate at exactly the same frequency as the arriving sound waves.

The auditory ossicles are three tiny bones that connect the eardrum with yet another membrane which covers the oval window of the cochlea. The ossicles are formed in such a way that they not only transmit the vibration to the oval window, but amplify it by nearly thirty times.
The cochlea is a core part of our ear, as this is where information encoded as sound waves is converted to electric nerve impulses. So how does it work?
The cochlea is a spiral-shaped cavity in the temporal bone of our skull. It is divided into three fluid-filled canals. The oval window is the entry to the upper canal, which goes up all the way through the cochlea until it merges with the lower canal, which goes down the inner tube again and terminates at the round window.

Between the upper and lower canal is the median canal with the organ of Corti: hair cells are fixed between two membranes called the tectorial and the basilar membranes.

The purpose of the organ of Corti is to transduce the movement of air (that causes the ear drum and the ossicles to vibrate) to movement of the cochlea liquid and finally of the basilar membrane and the hair cells. When that happens, the hair cells generate nerve impulses that travel through the auditory nerve to our brain – we hear something.
Different pitch levels cause vibrations in different segments of the cochlea, thereby stimulating different hair cells.

The louder the sound, the stronger the vibrations of the basilar membrane, leading to more impulses being produced by the hair cells.
The pressure that develops in the cochlea liquid when the waves run along the upper and lower canals is taken up by a flexible membrane in the round window, which flexes in and out slightly.
